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yazt 10,526.3 717.5 187.0  7,343.8 113.0 5,852.5  1,378.3  1,310.0 966.0 2.0 29,511.0 7,753.0 84.86 76.79
ZALH T AR 2,201.5 147.5 49.5  1,630.0 26.0 1,255.5 348.5 260.0 111.5 3.0 5,480.5 1,386.0 86.24 78.30
AR T AR 727.3 43.0 11.5 512.5 7.5 392.5 112.5 97.8 62.5 - 1,780.0 519.5 83.98 73.88
Bk AR 1,288.8 85.0 37.5 776.0 20.0 667.0 89.0 177.8 212.5 -  3,653.0 1,028.5 81.36 75.20
PR T 7ERE 889.3 57.0 20.0 644.5 13.5 467.0 164.0 101.8 66.0 - 2,519.0 656.0 86.37 77.01
BT T R 433.3 27.5 9.5 337.0 7.5 212.5 117.0 49.8 9.5 - 1,018.5 285.5 87.14 75.60
B SR T AR 186.0 16.0 6.5 143.0 1.0 97.5 44.5 20.5 - - 571.0 145.5 87.46 78.46
=i )5 AR 1,214.0 93.5 14.0 868.5 9.0 667.0 192.5 129.0 109.0 - 3,555.0 934.0 87.07 76.75
FERE T AR 179.8 18.0 - 105.5 2.0 100.0 3.5 22.8 33.5 - 453.0 144.0 82.26 72.19
LM T R 362.3 23.5 6.5 292.0 1.0 166.5 124.5 24.8 16.5 -1.0  1,202.5 277.0 92.19 79.46
T T AR 147.0 11.5 0.5 105.0 0.5 95.5 9.0 15.5 14.5 - 634.5 129.5 87.14 81.48
EEMIT AR 294.8 33.5 - 182.0 2.0 174.0 6.0 43.3 36.0 - 985.5 219.0 80.80 81.18
2T ER 682.5 55.0 8.5 504.3 6.0 397.0 101.3 91.3 23.5 - 2,056.5 569.0 84.68 75.42
e T R 770.0 32.0 6.5 502.0 3.0 492.5 6.5 120.5 109.0 - 1,619.5 418.0 80.64 76.57
TEUE N 7 2R 150.0 9.5 1.0 96.5 2.0 94.5 - 16.5 26.5 - 799.5 259.5 85.40 68.86
S5 LR 113.5 .5 2.5 91.5 - 74.5 17.0 9.0 7.0 - 608.0 100.0 91.04 84.54
R T AR 217.0 15.5 1.0 131.5 2.0 127.5 2.0 39.0 30.0 - 806.0 172.5 77.13 80.65
EE T ER 86.3 10.5 1.0 68.0 1.0 58.0 9.0 4.8 2.0 - 186.0 56.0 93.47 76.08
L TT AT 172.8 10.0 3.0 122.5 1.0 115.5 6.0 28.8 8.5 - 453.5 141.0 80.99 71.78
E M T R 196.8 8.5 4.5 104.5 4.0 100.5 - 37.3 42.0 - 485.5 144.5 73.72 72.91
HeE T AR 191.5 16.5 2.0 112.5 4.0 83.0 25.5 16.5 44.0 - 560.5 145.0 87.21 77.43
B T AR 22.3 0.5 1.5 14.5 - 14.5 - 3.8 2.0 - 83.5 23.0 79.45 74.85
#; EAR[EIHARR (%) -0.33 -8.25 -13.4 -1.44 22.83 -4.45 11.67 4.55 13.05 -50.00 0.49 -2.16 -0.74* 0.38*
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